==
A 2 0 & At =
20198 & =0llah LB & X
A R =y
JM: M0tsHes HES TAHL
o9l EBXO LU AR5 SERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Fal=n. 9,847,902 9,133,599 714,303
s 945,000
- 8,902,902
2A0ts+ls MHEE ZAHE 8,150,521 8,438,374 A 287,853
s 945,000
- 7,205,521
SEXN0 ALHEY HRFA 458,425 403,200 55,225
geldel 2age = 345,500 367,500 A 22,000
201 Let24d] 5,500 7,000 A 1,500
01 At 22l 5,500 7,000 A 1,500
43 S)l==2 15,000& 200 A 3,000
2B =2 2,500
305 a2 S 40,000 50,000 A 10,000
01 HH&a=SE 40,000 50,000 A 10,000
ORY0S2(E2AEZ)NS 40,000
401 AIEHIZL 20 300,000 310,500 210,500
01 A& tl 300,000 310,500 A 10,500
O0=&8X 24 300,000
2. SRA(Z=2.6t& )22l 101,000 26,000 75,000
201 £B-2dH| 101,000 26,000 75,000
01 At 22/l 101,000 26,000 75,000
OFgx=+=R 100,000
O=2 - BN A2 KNS 1,000
HEHRAIHZA 2,700 3,000 A 300
203 ¥R =&l 2,700 3,000 A 300
03 A=A H =AY 2,700 3,000 A 300
OHLAHHRZ=AH| 3,000,000& *90% 2,700
CHEE=(ord) =2 9,225 2,700 6,525
201 ¢er24l 9,225 2,700 6,525
01 At 22/l 9,225 2,700 6,525
OAMe+=2 OXAN &8 S 175,000 «54 875
ONEel=g XA HZ | 50,0003 *3&8r A 150
ONXAN &£&58 ST 403 x5,0000H 200
OEZHES It ZAIE HZE 100,000 «80H 8,000
AJIEE Al &= 7,672,736 8,015,814 A 343,078
s 945,000
- 6,727,736
E2 ¥ o= S A& A 1,004,000 1,004,000 0
401 AIEHI L 2 CHYI 1,004,000 1,004,000 0
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2N
X ZH -
L= B

el

Fag=n;
H0lssle HEHe TAIHE
SADIBE AMIEES

SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 1,000,000 1,000,000 0
OZ2ZH SA 480,000
Odt=AlE€= EHISA 250,000
OB&EFHIZA 150,000
OEZANEE BHISA S 120,000
03 Al 20 HI 4,000 4,000 0
OALASE RO 4,000
R EHEFH 750,000 750,000 0
401 A& HIZ 201 I 750,000 750,000 0
01 A& HI 700,000 700,000 0
OE2ZF S+l 700,000
02 Zeltl 50,000 50,000 0
Oz=a=+ Zeltl 50,000
H2UHLAEL S A 100,000 100,000 0
401 Al HIZ 201 Y| 100,000 100,000 0
01 A& 8l 100,000 100,000 0
OZUHLA St==AlE EHI3A 100,000
2 =2, o6td S 22 2AMES(SIHAY) 400,000 300,000 100,000
401 Al HIZ 201 I 400,000 300,000 100,000
01 A& HI 400,000 300,000 100,000
OZU &2, otd S 23 2MES(HIHAL) 400,000
2 HE SX 228l (SIHHSE) 70,000 70,000 0
401 AIEHI L 20 70,000 70,000 0
01 A& HI 70,000 70,000 0
O HESX 2yl (SIHASE) 70,000
SMEZ HELIMIAIE FA22 20,000 5,000 15,000
401 AIEHI L 20 20,000 5,000 15,000
01 A& Hl 20,000 5,000 15,000
O&E=Z HEQLIMZANE KA 20,000
EZANEE A2 6,736 5,536 1,200
201 LB-2E| 6,736 5,536 1,200
02 8322l 6,736 5,536 1,200
OLZANEE S =ZX&2eltl 6,736
- NHSXHM(Z ) 68,0003 »2H 136
- XX 2eltl 3,300,000% »2CH 6,600
HESAL doRARAS 29H 2,000 2,000 0
201 L2l 2,000 2,000 0
01 At 22l 2,000 2,000 0
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SN HED
A

HM: MOls4= HEES TAIAHA
B ST AIDIB AIEES (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OAHEZA Ao} & 2,000
=4 E8dn 9 MEZ FHU| 500,000 0 500,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
2484 EMN L AMEZ HHIBAH 500,000
=SdXEStW HE & JI2 EHIZAH 650,000 0 650,000
401 Al HI L 2 0HHI 650,000 0 650,000
01 Al& H| 650,000 0 650,000
O28xssy 2 & JI2 & T2 HH|I 2 A 650,000
28xSsn MAEZ A 70,000 500,000 A 430,000
401 A& HI L 204 HI 70,000 500,000 A 430,000
01 Al&H| 70,000 500,000 A 430,000
O2&xssn JNgez e 70,000
2MICKSHAE A 500,000 0 500,000
401 AlEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
ORAICKIoHXHE & HI 500,000
NEZ E2Z 1,600,000 1,000,000 600,000
401 AlEHIZL 2 0HY| 1,600,000 1,000,000 600,000
01 Al& H| 1,600,000 1,000,000 600,000
ONsz & 1,600,000
ER2Mdz 2 BHEHAINA 500,000 45,000 455,000
401 Al HI L E0HHI 500,000 45,000 455,000
01 Al& H| 500,000 45,000 455,000
SR2HAR YW BHHIMM 500,000
QEES 2S00t MY SHE 450,000 50,000 400,000
401 AIEHIZL 201 Y| 450,000 50,000 400,000
01 Al&H| 450,000 50,000 400,000
OEs 2s0is g2 &H 450,000
IHEHE RS FOXAIL (HMS AS0IS~I12EH 1,000,000 387,778 612,222
2F E204)
g 900,000
- 100,000
401 A& HI L 2 04| 1,000,000 387,778 612,222
g 900,000
- 100,000
01 Al&H| 1,000,000 387,778 612,222
Os MEIIS~IIE A T2HE 1,000,000
g 900,000




EXN: A4
HM: MOls4= HEES TAIAHA
B ST AIDIB AIEES (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| - 100,000
IHEHERE FOXAAIG (BMAESESTHARHDYE =9 50,000 0 50,000
Sl RAAY)
= 45,000
5 5,000
401 AlEHIZ 2 0HY| 50,000 0 50,000
g 45,000
- 5,000
01 Al& H| 50,000 0 50,000
OFRMZSEHAHOY =8 S22l ZAAIY &
ANEAHSA 50,000
Fag 45,000
3 5,000
M2 Xs TAHE =X 19,360 19,360 0
SCAHE 29 19,360 19,360 0
201 LBt Y| 19,360 19,360 0
01 AP 22| d| 19,360 19,360 0
OZAHEQ 2D =42
3,000,000& x53] 15,000
OZANHERAXZ EAEEH 70,0008 x15H x33] 3,150
OEANH=ESSAYS &4
70,000& *13H 13| 910
OfIdd2y & APEPY 300
MNAMEHAO S2= S AIIRD] 584,248 286,048 298,200
MNAMEFSE X4 584,248 286,048 298,200
of& & Xl &2l bl 84,248 61,048 23,200
101 e1214| 69,094 46,763 22,331
04 JIZtHI22XNEE S 69,094 46,763 22,331
Odld KA &el JI2tH 228 69,094
—QlAH| (= ,8X §2 Egh)
71,8373 x4H %210 60,344
-=Z0aEg =2 60,344 ,000& *4.5% 2,716
- AAEE= 60,344 ,000& *x3.23% 1,950
-NE88= 60,344,000 *1.5% 906
- MHEE S 60,344,000& *x1.05% 634
- RABEE=
60,344,000 *3.23%*7 . 38% 144
-=2XZoE 300,000 x4H 1,200
-g3Aan2 300,000 x4H 1,200
201 et d| 13,654 12,285 1,369
01 A2t 2| bl 4,600 4,200 400
Ootd (28 d =92 ASHAE)SX22IH(HEA
2E £) 4,600,000& * 1Al 4,600
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A R =y
M NGHEMHAEO s2&= T4IHRD|
Sl KIMIMENE T4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 9,054 8,085 969
OXNSIA (3SR 1E) 32,000 «1CH 32
OgZNERE3 (a2 1€)
61,000 »1CH »23] 122
Oxt& KA 2teltl 5,800,000 = 1CH 5,800
OW=2JI2=Hl 1,900& =1,0002| A 1,900
OHIIRS 100,000& =122 1,200
405 XtaHE SHI 1,500 2,000 A 500
01 AR ESFH S 1,500 2,000 A 500
Ootd&EHlE &HHI 7Y 1,500
StHEAE =S R 2e 300,000 225,000 75,000
401 Al HIZ 201 I 300,000 225,000 75,000
01 A& HI 300,000 225,000 75,000
OotaE(RAH)ANEE FHI 300,000
2 A2 AESUZ2 X ALY 100,000 0 100,000
401 Al HI L2 THHI 100,000 0 100,000
01 A& HI 100,000 0 100,000
O2dd RAZCXE HEUZ EX ALY 100,000
2dd g2 Edz AKX MY 100,000 0 100,000
401 Al HI YL 2 Tl 100,000 0 100,000
01 A& HI 100,000 0 100,000
O=2dd gt B2 EX AtY 100,000
HHSAAY (AL D) 213,133 209,177 3,956
ol 2d | 62,483 59,668 2,815
ol 2| 62,483 59,668 2,815
101 @124l 62,483 59,668 2,815
03 I AHA2Z 2 HE > 62,483 59,668 2,815
Ostdzel BRA(1Y) J=2=
3,833,840 1 x12& 46,007
OitsEs=¢ 480
— B Xt 40,000& x1H » 128 480
O=cl =44l 4,628
- Mg A 130,000& »1H <123 1,560
- EF0Hl 3,833,840& »80%*1H 3,068
OF=In PO =) 2,267,150 x50% 1,134
Oozuz2+¢ 9,774
-—mY2eE 114,528 «52& 5,956
—HirsSsit= 152,704 25 3,818
Ou =t & 380
-22=(s=) 140,000& = 1H 140
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Palni:
HY2GAFY (A& W)
ol A )
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-2e=s () 100,000& *1H 100
— g SH& 2t 20,000 x1H 20
- g5 20,000 *1H 20
-&eR 20,000& 1A 20
-9 40,0008 1% 40
- &3t 40,000& 1A 40
OkL=x H=EU3 CHErH S ALK 2
(30,000 x23] )+20,000& 80
| &2 &l 150,650 149,509 1,141
Jl2 &4l 150,650 149,509 1,141
201 et Y| 37,600 37,189 411
01 AP 2t 2] d| 37,600 37,189 411
O=2AEX 20,000& 1358+ A 2,700
O=AEX 21,000 x58+ A 105
OEl®x¢ 13,253
-ZeZel 617,000 4K =3 CH 7,404
=== 175,000& x5l »5CH 4,375
-EZ2H 147,400 =104 1,474
OMEE &H S Xl 1,000
oMY 10,000& *30H 128 3,600
OAlZ2+2 2
8,000& *5.541x30H 128 15,840
OA&I A HalZE 2EX NE
1,100€ 320 352
OEANZLHI(A EEH 5) 750
202 044 107,520 107,520 0
01 2L Hl 107,520 107,520 0
O bl 280,000 x32H x12& 107,520
203 R F & 4,800 4,800 0
04 EASHEYRF 4,800 4,800 0
OENSg9gR H| (302! 0| 5})
400,000& x12& 4,800
405 XH&HF S HI 730 0 730
01 XAt = EF S HI 730 0 730
ozZzgiyg ¢ 730,000 = 1CH 730
HEES (AL 900,000 200,000 700,000
WEAHAHXI= 900,000 200,000 700,000
I0IEHEZAIHEAIE HX2 4 900,000 200,000 700,000
701 JIEIS HENEZ 900,000 200,000 700,000
01 JIEtS HEE 2 900,000 200,000 700,000
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(BAH) - N2EAY - BES

H

AHEAIE X 24
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